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A. A stream can contain at most a single tuple.

B. A stream can contain many tuples of many different types.
C. A stream can contain many tuples of one type.

D. A stream can contain a tuple of an undefined type.

Answer: C

QUESTION: 49
An Application Graph view in the IDE depicts which components?

A. Operators and jobs.
B. Jobs and instances.
C. Operators and streams.
D. Streams and instances.

Answer: C

QUESTION: 50
Which component is included in Streams Studio?

A. XML view
B. Graph view
C. Streams Explorer
D. UML view

Answer: C

QUESTION: 51
What happens when you use the Export operator inside standalone SPL applications?

A. The application will run slower.

B. The exported stream will be highly optimized.

C. The tuples will be batched before being sent.

D. The tuples will not be sent to the exported stream.
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Answer: D

QUESTION: 52
What are the criteria for a potential main composite operator?

A. A composite operator with no input or output ports.

B. A composite operator with at most one input and one output port and no parameters.
C. A composite operator called "Main" that is in an SPL source file by itself.

D. A composite operator with no input or output ports and no required parameters.

Answer: D

QUESTION: 53
In SPL, which logLevel directive will give you the most verbose application-level

logging?

A. Info
B. Trace
C. Error
D. Debug

Answer: B
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